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& :189 (kN/m?)
AFRP: 14 (kN/m?) AFRP(W)DEB =W X L EE
K 10 (kN/m?) AFRPOMIEREALT 3.
AFRP®DdE: 1300 kKN/m? W=A(m?) X 3000(m) X 14(kN/m3)
=42000+A(kN) ——————— (1)
AFRP
3000m SHOEE
1000kgf=1000 % 9.8(N)
=9800(N)
=9.8N) ——————— (2)
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1000kg



3. BKPOYMAEDZENZHEHT S.
FN=>BEPOMEOER X BERLI-RAEDLLEE
AFRPIZE>THRTSFH(B,)

B, =3000- A(m3) X 10(kN/m?)
=30000-A kN) — — — — — — — — — — — — — (3)

EBWICI->TERT DR NB,)

B=(BEE/LHLEER) X HRLE-BADILLES
=(9.8(kN)/189 (kN/m3))x 10 (kN/m? )
2052(kN) — — — — — — — — — — — — — — —— (4)

4. AFRPD3|RYESTHA S5 R/MOMEFRZRHT S.
AFRPOSIRYES-RXFERUTONFEDOEE —BKPOYEDES

AFRP®D5|iRYsHE=58< X BTER
=1300(MPa) X A(m?)
=1300% 103(kN/m? ) ) X A(m2)

RAMERLUTOMEROEE=(1)+x(2)
= 42000+ A(kN)+ 9.8(kN)

KD OYEDFEH=2(3)+H(4)
= 30000-A (kN) + 0.52(kN)

A=(9.8-0.52)/(1300% 103) —42000+30000) (m2)
=0.0000072 (m2)
=7.2 (mm2)



